Year 5 Homework, Autumn Term Week 11
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Maths: Speedy Six

V

4432.12 + 883.21 =

8843 - 7002 =

88x6 =

54 + 9 =

Round 432.12 to the nearest
tenth.

What is 3321 x 10?

y Y

1) 99321.33 + 3324.98 =
2) 99213.21 - 8890.98 =

3) 93x64 =
4) 356 + 4 =

5) What is 40% of 8807 (find

10% first)

6) What is 7832.44 x 100?
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Reading Comprehension
Please complete the reading comprehension ‘Twas The Night Before Christmas’.
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Spellings \

Core
careful
colourful
fearful
doubtful
harmful
beautiful
new
knew
temperature
signature

Optional SPAG question (1 housepoint if completed)
Support Underline the prepositions in the sentences below...
elf
elves
leaf 1. The presents were placed underneath the tree.
l(\a'jc\;ﬁcs 2. The stockings were hung on the fireplace.
wolves 3. The child was sitting beside the Christmas tree.
grandad
:aby 4. The bright star shone on top of the Christmas tree.
ome
car 5. The dog lay between the child and the fireplace.
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Homework is due in on 8" December.



